/DVIRB

3UDFRZQLN 5RINdaDG SURI GU KDE =XVNRYD .0DXGLD 7\J

7N 7N 7N
o (GXNDFID JGURZRIQD QD Z\TV]\FK 3RGVIDZ\ UHNUHDFIL (DE SURI GUKDE =XVNRYD .(DXGID $% 3RGVIDZ\ UHNUHDFIL (DE SURI GUKDE =XVNRYD .(DXGID $%
™ HIDSDFK HGXNDFNIQ\FK G SURI GU =3:)/ / =3:)/ /
KDE =XVNRYD .IDXGLD $% =3 1)
o &
7\6] 7N
(GXNDFID JGURZRIQD QD Z\NTVI\FK 3RGVIDZ\ UHNUHDFIL (DE SURI GUKDE =XVNRYD .(DXGID $ 3:)/7 7
HIDSDFK HGXNDF\IQ\FK GZ SURI G 76l
> KDE =XVNRYD .IDXGD$ =3 =) O 3RGVIDZ\
£ & UHNUHDFIL
2 IDE SURI
= GU KDE
N =XVNRYD
_IDXGID $
-3
D/
/
> 7\G]
o ZXU\VIND VINRIQD IDE SURI GUKDE =XVNRYD .IDXGID =3 =) O 3
—_
o
- 7N 7\6] 7N 7N
z 3RGVIDZ\ UHNUHDFIL Z (GXNDFID JGURZRIQD QD Z\TV]\FK 3RGVIDZ\ UHNUHDFIL Z  SURI GU KDE 6HPLQDUXP PDJLVIHWNH SURI GU KDE
o SIRI GU KDE =XVNRYD HIDSDFK HGXNDF\IQ\FK GZ SURI GU =XVNRYD . DXGID $% =3:)/ =XVNRYD .DXGD $ -3 z) 6
@ _IDXGID $% -3 KDE =XVNRYD .IDXGLD $% -3 B 1/
N/ - )0 &
o) 7N 7\6]
o 6HPLQDUXP G\SIRPRZH SIRI Gl KDE GHPLQDUXP PDJVIHWNIH SURI GU KDE
ha =XVNRYD .IDXGD $ =3 =) 6 =XVNRYD .IDXGD $ =3 =) 6
> 1/ 1/
7\6] 7\6] 7\6]
- GHPLQDUXP PDJVIHWNIH SURI GU KDE 6HPLQDUXP PDJLVIHWNIH SURI GU KDE 6HPIQDUXP PDJLVIHWVNIH SURI GUKDE =XVNRYD .DXGD $ =3 =) 6 1

=XVNRYD .IDXGLD $%
A1/

z3:)6

=XVNRYD .(DXGLD $
A1/

=3:)6

/




